Measure R Recount

Discrepancy Report

Discrepancy
Batch Machine Manual Diff Explanation

Machine counted 1 card as an
undervote due to the voter
marking the ballot too far
outside the voting position. The

12-Yes 12-Yes voter marked “No” over the
ICCO1 +1-No ot )

17 - No 18 -No word “No” and not the voting
VBM - 11 -1 - Undervote . . .

1 - Undervote 0-Undervote position as per instructions.

The voters mark was beyond
the range that the machine
reads and therefore was not
flagged to be adjudicated.

*Adjudication is the process of operators visually looking at a digital image of a ballot and determining
the voter intent.



